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Last Date to Send Suggestion (S)

Instructions / }jell (Physical Submission)

Candidate must ensure compliance to the instructions mentioned below, else objections
shall not be considered: -

(1) All the suggestion should be submitted in prescribed format of suggestion sheet
PHYSICALLY.

(2) Question wise suggestion to be submitted in the prescribed format (Suggestion Sheet)
published on the website.

(3) All suggestions are to be submitted with reference to the Master Question Paper with
provisional answer key (Master Question Paper), published herewith on the website.
Objections should be sent referring to the Question, Question No. & options of the Master
Question Paper.

(4) Suggestions regarding question nos. and options other than provisional answer key (Master
Question Paper) shall not be considered.

(5) Objections and answers suggested by the candidate should be in compliance with the
responses given by him in his answer sheet. Objections shall not be considered, in case, if
responses given in the answer sheet /response sheet and submitted suggestions are differed.

(6) Objection for each question shall be made on separate sheet. Objection for more than one
question in single sheet shall not be considered & treated as Cancelled.

(7) Candidate who is present in the exam entitled to submit the objection/(s).
(8) Candidate should attach copy of his/her OMR (Answer sheet) with objection/(s).

G edIR o{lAeil YUoilBilef Uldel sclofl d3el] A, Bouell ditil-YUsl Bid] 539 2VlLd] tla
Qqiel <&l

(1) GAedR didl-YUell [Add S 11Ad ditl-¥Ael UsAse] 22 5d il EL.

(2) GUEdR UHUHIY ditl-YUell 2% 5L AL U URite AAd (A4 ditil-yUst UASeil
oiYsilet] % GUALL 5.

(3) GALdR Uldlal UlatHi HAE UMY RASIHI 9UIAE USHIS Yo ditll-YUsi] 22 ol 5cll dHIH
digl-yUell AUl U Uit 6AG Yl[dreld w12 S (HIRe UBUA)sll Usl SHIS Yol Wl d
Aeelui 20 s2dl.

(4) U1 USUA Ui A2 ust e [Aseu [id el ditil-Y et dlel Qo lH] w1dQ) il

(5) GREAR % URlell (A5 UR dlit] 2% 536 & el [Asey 10 % % lod YUdd B 2 %clod GHedR
Uldlefl GrRd&lui w1ud eld) a5, GAed R YUAd i el GrdRdElell asallod (¢3t &2l dl
GHed IR 2% 534 ditl-YUst LdleiH AR oAl

(6) W& WS HI2 WS % ditl-YUel Uas dlUG, WS % didl-YUet UAsH] 158l aaR usllel 22q41d
539 &2l dl A stl ditll-yAell il Ad Q) &l

(7) U3lewHl sloR ¥A GAEAR % citl - YUot 9y 53| A5 .
(8) GRAeal? clul-YUsl A& Wdlloll scuataglell aisct @sial scusdl 234
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001.

002.

003.

004.

00s.

[l ausal AsRAL

1. B2 udani wufl suda Reu-amucal A ame 2 s ol 2 o,
2. 5.4, 1947 Yl A2 R A2R1d, et AU ML e,

3. 9%Rud AzA-l 2l Angiae Al edl.

4. 5.2, 197540 APl 22U 5304 el AR 4 2AAA S,

(A)1,2,3 % 4 41U 8. @)1, 2 x4 3 d0u 8.
(C) 1,2 A 4 QoY 8, (D) 1,3 i1 4 Qiou 89,
LIBETETEN BT B

1. IR A% dons 2t uslous 4 oRinR 3:2 4 8 241 gl 422 Ad) oey o1u AsHI 24 2RI
(Spokes) 244 69,

2. 22 A, 19471 A% HIRA 681281 AHA d 1514 Sl

3. a-uld [Alaudini [Qani euy 241 212 vigHi Alg 2 HRA ©.
(A) 124 2 9120 89, (B) 2 ¥4+ 3 wdy 69,
(C) 133 90U 89, @1, 22130008,

$591 “Tropic of Cancer” MIRdrll $4L AALHI] uA1R 21 & ?

1. 9RUd, AYAALA, HAUS

2. MIRvi3, ulu visum

3. [Pyl Modiry, vdlauoe

4. 530, allRa-ug, saies

@1, 22113000 (B) 1,2 &1 4 A%l
(C) 1,3 211 4 A%l (D) 1,2, 3 i1 4 1%l

2205 2™ Ul R Rigaell Rewsla 2l 3 R a9 d su iy 2uda 8 ?
(A) APl SEAIA Y510 [ ZTESTEN
(C) B8 (D) st

A2l W 5 s uloy ol ?

(A) MuRd-l 54 azdl-il 4.99% adl 9rAdui 28 €.

(B) 3l azdll a-al €2 Al (3aidle? 308 L €.
@)-1r200r 2z €2 87.23 8.

(D) Al & aredl-il @AM 42.6% Al ASAHI W .
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006. AL ALsAL ASIAL 2
1. QA (3edl Y12 ounsll wA 2udd € 24 d Rl wied g a0 8.
2. [RAriiso1e [3eal A2AAHL 20AA 8 247 d 700 AU NAUIA 69, AL QMO 22 Al .
3. Raagol (Beal saiesui vuda 8. [Beanni |2, H320e 2n 210 Auaius UL 8.
(A) 134 2 Uidu 69, (B) 1 24+ 3 uloy €9,
(C) 2 3410y 8. @1, 221130008,

007. DA UA 53 NS ASAU AR (Navratna) 2l ?
(A) [Bgetint 2118 5u Hl2s (Hindustan Aeronautics Ltd.) (HAL)
@)\« S Q1025 (Coal India Ltd.) (CIL)

(C) A Ay R-lun su-l (National Aluminium Co.)

D) Allflor siuiaq 248 S-Sl (Shipping Corporation of India) (SCI)

008. ~llAw AusAlL ASIAL
1. GuRdni Hlst wellg Aell Hig URnAR g4 (Wular Lake) . d %33y 519441 >udd €.
2. GRAHE v welle Alell HIE URAAR UM URAAR (Sambhar Salt Lake) 9. d 1222141 0dd .
3. Gey-ll 2nvuel doudii a8 dls suuami »ud 8.
(A) 131 2 Uidu 89, (B) 2 24 3 U1y €9,
@1, 22130048, (D) 1, 2 i 3 61841 % 1oy e,

009. 2 HSIAMIEl A4 A2l d osida 2ol oAl UL 56 oA dl uiou el ?
(A) 4l [Qion eud — ua-R uaH (B) 4l 2A2(dg iy —ygAd
(€) A [Adsirie — 6igR us, s=ugHIdl @)ull cansie uadl — sl

-

010. vzl G4[H Vi G AU ASE AIRA 1A dal A351 U1 Ld Alsal.

g uH ASE A AAY A%

a. sldAIE 1. ulu sidum, 2u4

b. A 2. Briaa e, Ry

c. WlBeun 3. ulAyR, Aol

d. RAAHIR 4. 9)%Udl, A%RAL

(A)a-2,b-4,¢-3,d-1 @-:-1.v-2,c-4,4-3
(C)a-4,b-3,c-1,d-2 (D)a-3,b-1,c-2,d-4
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011. DA VA 55 Adl2ll wioy 9 ?

d2 A%Y o{g

1.ydlu a2 — dlRa-ug — A~

2. ulBu (3Rl — sules — WIAiR

3. ulu Bl — 50 — 52l

4.ydla a2 — wtidlan R CIE)

(A) 1,2, 3249 4 40U . @1, 2 113 dou 8.
(C) 1,2 i 4 412U 89, (D) 1, 3 i 4 412U 89,

012. [RPuRA21R1 241 A%uq, uiy A4 2sal.
RIEENEN] A%Y

1. Gearisau (B4) a. GrRIvis

2. ell¥(&a b. ulZau eioun

3. 1y c. dlma-ug

4. [l d. Haax

(A)1-b,2-2,3-d,4-¢c (B)1-2a,2-d,3-c,4-b
@1-c2-v,3-2,4-4 (D)1-d,2-¢,3-b,4-a

-

013. €l 21 d-u [3+U2 add a8 2usal.

gl A8

1. Y a. Yad

2. S1AHAL b. a3l

3.yul c. [Bua-rR

4. awdl d. uiedl

@1-d,2-¢,3-p,4-2a (B)1-¢,2-b,3-a,4-d
©)1-b,2-a,3-d,4-c¢ M)1-a,2-d,3-¢,4-b

-

014, el -l el A3 AUR S1ait AU A 24 WA 56 oAl wlow Al ?
(A) MRd 2y, — diffdng @)sous — 200

(C) §4ydl — Aniauca (D) s2asdl — 330
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01S.

016.

017.

018.

019.

020.

021.

A%, i disgadl 2 dlsal.

A% 1
a. H3RUAA U 1. xasy, 2=6A

b. FUAH 2. gwy, ¢oudl

c. oTilole 3. srdloliwa, oilg

d. BRViZ 4.9, ysaidl

@:--2.b-3,c-4,d-1 (B)a-3,b-4,c-1,d-2
(C)a-4,b-1,c-2,d-3 D)a-1,b-2,c-3,d-4

IR 29 15 AI21R2, 2022+ AY S2AML AdAdL [Bay Brdd 8di ?

(A) 7441 (B) 754l

@76+ (D) 7741

ol 4 Al A2 WA 56 Aflotl wlou €9 ?

1. 2 — [BayR 2. e9ellAoe — AAYR

3. [Rwaa uga — Rma 4. wldry: — [Qio

5. Halay — S84 6. WA= — 2SRAA
(A)1,2,5%1 6 A2y 89, (B) 1,3, 4 2 5419 69,
@1, 221139048, (D) 4, 521 6 U O,

%, AU DAL S Al You HASHL A2 W 56 ol wloy ) ?
(A) dAndl — Rl @u025i6 —wanyz
(C) VAU — 2143 (D) el — e fluon

udlst (Rekhapida), Welgud (Pidhadeul) 244 vs21 (Khakra) 31 s4 1ol {22 eiieell|i 24014,
A YU €9 ?

(A) 2 sidun (B) 2A1UH

@1l (D) difaug

HSIMI (Mahabhashya), %4l a1l 219141l sustdi-l [Qordl 2uda 69, d 519l e 9 ?
(A) 2[2 (Ashwin) (B) 4l (Ghosha)

@ uixA (Patanjali) (D) sts2llad (Kakshivat)

HASL 2 AASHEWS 1061l A 2 Yy su unel nelld © ?
(A) wellud waH Yo (B) welluag olly yeu
@ cuc Aoy (D) (1547, Y
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022,

023.

024.

02S.

026.

SUL QHAL AHTHHL “S1aus AHUIN Byauu 8 ?
(A) g 94 (Hinduism) @144 43 (Buddhism)
(C) %+ 4¥ (Jainism) (D) Buisd U4 2is v <l

(Rt Al 241 Aoidld A%uD A2 Al :

(2= 3l AP

a. RL 22 (Saura Art) 1. A%

b. R US-3l21L (Chitra) 2. 30

c. A%Yd US-3laL 3. 23

d. sauS %Y (Kalamezhuthu) 4. saies
(A)a-1,b-2,c-3,d-4 B)a-2,b-3,c-4,d-1
@:-3.v-4,c-1,d-2 (D)a-2,b-4,c-1,d-3

R HADHL QIR Quisl 21 dviil Yreisil A2 W 56 il wlon 44l ?
(A) 2UR. 5. R — 4] ouss, 4l wadLdl 3% (The Guide, The Malgudi Days)
@)1 2utie — 21 g B (Train to Pakistan)

©) (320 g — secuoidl S ALl ifl3 (Hallabaloo in Guava Orchard)
(D) viadalaa — L d\de, g4l (The Village, Coolie)

(€1 curiirtl Qvist 244 dx=i vl ol U4 56 oAdlail wicu 69 ?

1. ugigd) ami — i Ala, Avdual

2. AU Brwdl — e, winil

3. AYdAA WR — glu [, AR

4. ARdlaRe d — [, yaadl

(A)1,2,3 21 4 919y 89, (B) 1,2 ¥4 3 41y 69,
(C) 1,3 21 4 Ul 8, @1, 2211 4u0u 8.

S\ RN Y. N\
.

%Al GMLIUL Qust 2 Aol AAELA Aoy Ad A

aus AAELA

1. R[R Hd L a. WSl 84lsq, aulaaR

2. UMi-ie b. Yaldiy, 11212 244 agll

3. MeleisR ed c. QW1 MUY BvALA

4. w52 Mg d. 81R, 8l

@1-4,2-¢,3-2,4-» B)1-¢,2-2,3-b,4-d
(C)1-2,2-b,3-d,4-¢c (D)1-b,2-d,3-¢,4-a

[BEO]
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027.

028.

029.

030.

031.

032.

SIBETETENEETEN
1. Hid, LML Jrud-U e Ml vidl 08 Gelloli-l [Asin 2l dl.

-

2. MU, dlAd, @159, eiMmdle Fal vigedl uRA%Al WA AUR AL dl.

-\

-

3. 300YR, sl2, Uandl, arnsuan, Al Fa a2l s 2 His--esi-l Aslau viadul woll

214 8.
(A) 124 2 4i2u 89, (B) 2 211 3 U9y 89,
(C) 14 341y 8, @1, 221130048,

AL sl WA 53 ausu uloy 4l ?

1. AAAs da gL aaelyl darud-l ad ad 2aud ¢dl.

2. 5., 788 ¢l 792 YH A AN 516 AU Uty WA Uadd - 8d.

3. 9aR1d-ll S1al aqAizel agien Yl S.4. 750 A 972 Yl wast dad wa sd.

(A) 1 s iy g, (B) 2 cusy uioy -,

@; s uioy . (D) 1, 2 il 3 6481 % sl Aoy .

et WAL 53 cus uou 6 ?

1. 6., 144841 Uidollos vl anrsi-§l-oumizd ¢ 2nadiql 4dl eRuis Hiol 2dd gdl.

2. 5., 144541 3% ALSL MURA 2UAE Sl 2 .34, 150541 UAH §5230-) 221U 530 8d)
3. GIRAHE 374 1 @il A a2y “wslludd ollog g voL o Heed 4R1d ©.
@1 (B) WA 2

(C) WA 3 (D) 1, 2 24l 3 6181 % Q1Y 89,

114 uglui siiasim Yol 234 [@aRie H[E: (Lingaraja Temple) 21 A840 2udd € ?

[ KEREE (B) elloyR
(C) slast (D) AARAA2USL

A=A WS suL A5 Aneiari Ad gt [8-€l el Gualol sl 2udd di ?
(A) £1§ (Dadu) (B) $6R (Kabir)
@)-1+1-ic (Ramananda) (D) dallél (Tulsidas)

§.:. 165841 4Hd Ytu (Battle of Dharmat) $i-ll 423 244 8q, ?
(A) HeHE UIF] 21 wue

(B) GUBIR A BSHIA

@030 217 pudala 618 el Sls (Dara Shikoh)
(D) A8HEWS gRA 2 HRASL

[BEO]
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033.

034.

035.

036.

037.

038.

§.24. 194641 uui 20dell auounu-l a5l A4[ERsyRa s16[F1a-u Bunym als si-l azell s
2puda 8dl ?

(A) L. 2. gz (B) 3L L. eptiwenidl
@susrcua 133 (D) $L. ABUAE

A

“QrilsyaR NA 2452”7 (Vernacular Press Act) 5191 25 (Repealed) 53¢ Sl ?
(A) di$ 3591 (Lord Dufferin) @) <i< Qur (Lord Ripon)

(C) &S $33 (Lord Curzon) (D) &S €1fl2L (Lord Hardinge)

D2t WAL 53 cusy dlou el ?

(A) .. 19064 HsL Al glaa 2u[Z5Hi Al UAH ANAS 534 Sdl.
(B) S.30. 191741 AUIRQ vild Ul MAH ARUAS T YAA Sdl.

@5 2. 191540 visL Acuas-l YM 2uie 24 sdl.

(D) §.4. 1930 H{lst-il AcuAns W2 AU 2usmal gidl-l aku a3 234 sdl.

RUR AL AL YL 24 dril QU dllsal.

c

Yy ay

1 wsllud uam Y a. 1576

2. 50| Yy b. 1526

3. S UAH Y c. 1999

4. sagladld yu d. 1191
(A)1-¢,2-d,3-2,4-b @1-v.2-¢,3-d,4-2
©)1-d,2-a,3-b,4-c¢c M)1-a,2-b,3-¢c,4-d

A 16714 A2 Y44 (Battle of Saraighat) si- a2 244 ¢ ?
(A) HRASL A A

@) 10¢ %) 219 21614 A5l (Ahom Kingdom)

(C) HRUSL 241 A%BYd

(D) HRASL A A1 AY 5l

2045 G- Slasinui 1Bz 8232 (Mount Harriet) 58 tlloid u1d Asnda 8 ?
(A) ud st [Agie (Paika Rebellion) (B) 1cll-H3 Yt (Anglo-Marri War)
(C) ¥iodli-2llv Yt (Anglo-Sikh War) @)i>cl- 12y 3 (Anglo-Manipur War)
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039. ua3aR [Agle (Patharughat Uprising) (212121 et 14 5181 534 8l ?
(A) SIMEIR Q] AN (B) 2tz sinal
@) 1.1 vigdid 2igian (D) Alss Ala-l anan

040. U5 (st 249 2ulds QR Aoiani DA asal sl
1. 20Rs [543 a2l ® A dui Guasy a8l y: sinaell Gu e s 2ud 8.
2. 205 9lFR 2 (s uEun O 217 x1dani aaudd Al auAsL {00 20 Al 53 8.

(A) 124 2 912U 89, (B) HI5L 1 919y €9,
(C) Hiat 2 dlou . @1 21 2 vir diou Al

m 041. DA alsal A5 : -
1. 22l 5 AU s, A2 & ardl ad MRLUHT U dA HIALELS a5 s 6,

-

2. Hird [A sl 418 (Human Development Index - HDI) Hi, 2[5 WUES BuRia Brulds Wy si-il
GHRA 2 89, AU 2uy™, [DERL 214 1T DAL, 2 Wi (st 2isul kud daw 6.
(A) 1A 112U €9, (B) I3 2 919y 89,

-

@1 217 2 vin diou 8. (D) 1247 2 bixl 4o Al

042, ~N2A-U WS 53 sy dqlou el ?

Y

(A) w4 6lR1ooud AlRsl duil alsanl y2i Guaior 530 asdl 1ol 249 arastd sl 2] audlg s
CEERIRE

(B) U291 612Ul 2A2d t9l 611%9UF il #3LLULA Sl AHIR ALSL 21 2L5H [ AL AS1A 8.

(C) Al siioroudl AUl de HEl Gu 2utudld 9.

@) 30w, crasia nud R dert L 1N Sla U ayRega GRluHL Geu i 8.

043. A AsAlL AS1AL
1. (22 duryi daeril dar-i Yuud ol usR §iu 6.
2. [Aea dwirHi, Aateril gl Youed A3 vl S 8.
3. Queardl gard Rumal €2, 2R 2naidl, 2ulEs [@Asaql £2 Fd suoidl 2R 53 9.
(A) 131 2 Uidu 89, (B) 2 24 3 U1y 69,
@1 2173 000 8. (D) 1,2 i1 3 42U 8,

044. igpuadl 2, cudui Al aduasllui, s2a 2a{l A1+ Gedu €97
(A) LU AU (B) ¥i$ alu
(©) [& adlu (1) [ERSE

[BEO] [PT.O. n
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045. ‘axdl [anus R[As-s (Demographic Dividend) 2A MIRd HI2 AREIA 8. - VAL AsAAL Y 212 & ?
(A) AL 0 2l 15 Qui-) azdl, sa axdlui Al auR 8.
@) 15 o 64 il quaga-u disl, ga axdlui Al aaR 8.
(C) 64 aridl Gua-ll auoga-il disl, & azdlui Al asl 6.
(D) [Gaui curd Aldl atuR axdlan e 6.

046. QURAHL AlAd-l AU 266 HAGL HILA 53AA VA V1= VUAS, MIRA ARIR GIRAL $UL FIHT YHL SAUHI
204 €9 ?

.G-lej 25[3d §3 28 S (Consolidated Fund of India)
(B) 215[RU5 53 2iis Sl (Contingency Fund of India)
©) AR BisI62 83 (Public Accounts Fund)

D) Buidle =3 visanluu 3 (Deposits and Advances Fund)

047. AHI {d MU SAHT WIHYRS WeU-aR2l (Deficit Financing) 601, 5Ul $IRQAU LU ¢3lN Gy
scui 20d 89 ?

.:b{l[@(ls (st 22 (Economic Development)

(B) 82 gaiHidll Y[sd Haal (Redumption of Public Debt)

©) %q-a[lj, zigem AnAL[¥d s (Adjusting Balance of Payments)
(D) [azg<ll %C\i’, g4213dl (Reducing Foreign Debt)

048. 1A U4 51 S1Q14 AN, eu-l gzqa‘l augl (Increase in money supply) ?
1. Qlﬁtélé\l{g WHLIRL - Volume of Transactions
2. IRl usld - Nature of Trade
3. 0Ud 2R - The Price Level
4. RBI-) Al(c, 244 Gi(&21A) 2116l - RBI Policy and Banking Habits
(A) 1412 (B) 1 211 4
@1 3 (D) 1,2,3 41 4

RN

049. -l U4l sw 2ol “Hl 23 WA s .2AA.S. 2.2, (Free trade partners of ASEAN) -l
aller 6 ?

Latizgdlar 2,548 3.0l 4.8uRd 5w 6. xdlsL
(A)1,2,3 21 4 (B)1,2,3,541 6
@:1.3, 42145 (D) 1,2,3,4,5%1 6

m [BEO] [Contd.
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050.

051.

052.

053.

054.

05sS.

RURAHL AR51Z) WAL A A HlA UL 54 “21-u$ U2 (Transfer Payment) 2LRLUHE 204 € ?
1. ueanidl dlda dlg .

2. A3 sHALAA YsAUHL AUl UAUR A M2l

3. A1HDS Gelriwll S1U5HL U2 YsaHi 2uadl usiu.

(A) 1442 (B) 1 21 3 (C)2 41 3 @13

A1 cusal sl :

1. e Heu oisl, vidladl axmi (50 i) el oist sdi, aaiR el yiws .

2. ¢l HRRY A 5IEL L5l walfs us sl Havllii-n Hitnal e saui (8w yg ws ©.
(A) L 1 10w 6, @ 2 00u B,

(C) 1 2 4idu 89, (D) 1 244 2 i U1y Al

-\

R 519 Su-ll gl21L Uldirl 2R 6 615 (buyback) $UHL 20d 8 QAR ...

1. tu$l 2l o1 [ ad .

2. 619 UL ARl AvAHL 82131 AU 6,

3. R SU-ll-L AR+, HEU, AUAL Sl Ui SlU UR SU-lA buy il 2183 53 .

BURsd USL suL cusul dlou &9 ?

(A) 1442 (B) 2 1 3 (C) 1413 @123

RURArL bR sAH 356 Yartt Asuld A dlgail AeEHE HlAHL ausal A5l
1. 002uld WA Qg HI2 dlaHR L HSAUA $DUUA 8.
2. [Rud AHuML, duenL o At gL, guld Ansll osAud AuU Halemi HogRl 2uudl s:20u1d 6.

(A) L 1 0w 6, @ 2 00u B,
(C) 1 244 2 i U1y 89, (D) 1 244 2 i U1y Al
A2 sl AsRAl.

1. AR SIAGIR, SIAAHA A Sl AUsIHL QUL uRuni 2ud 69,
2. a2+ [AaeLs vt G2 AL AlSd2tiAL A4 g1RL sAHL 204 8,

(A) H1AL 1 AU €9, (B) 1AL 2 U1 €9,
(C) 1347 2 6{7, QU 6. @1 21 2 vin diou Al
AL sl s

1. Bwddrz oidld 22-8101 5[RA (DRSC) yri:raru €2 ad i 69,

2. 2 5[RE - ueal w2 clssui 1yl suudl s2U14 €.

3. A% AML 2l AlsAMLA AlR[A QR Sia .

(A) 124 2 410y 8, @1 2143 00u 8.

(C) 2 ¢ 3 uidu 89, (D) 1, 2 241 3 6181 % Q1Y 89,
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056.

057.

058.

059.

060.

awell 2and=t 2100l YNeid 218512 i 9di DAl 55 ouerd sagiEl nalgizl Y4l as o ?
1. GIRcrL ARUH, AV ALAL AHA HI2,

2. AUl acundl, [Q2ell Aol e WAl 2Avitl andl val.

3. ey, Adum a ~adad aRw nqa.

(A) 1AL 1 24 2 |2 (B) WA 2 ¢4 3 W2
(C) WA 1247 3 W2 @)1, 2 211 3 o1efl o ol w2
A1 cusal sl :

1. MR-l Aue [Rud 3A-32 A8l 214 €2 atl UMV 2 dAllvdl 155l s 2ud 8.
2. AAE GlleAdal 2L YO wRAUE 193541 a2 21 SRl s1agimi 84 9.
3. 3(801q A AU A” UA W2 HA Y.

(A) 121 2 9129 89, (B) 2 ¥4 3 widy 69,
(C) 1247 3 ulou 8. @)1, 2 2113 e o ulou B,
AL sl s e

1. 28R U530l usAlHL dsl AL — GURAAL sl sau-17
2. gl ald=t adiR Aeilfd Y5 S58ld 288 — $aH-20
3. 51U ARHL U s s vl wlasiy — san-24

(A) HIAL 1 AU €9, (B) 1AL 2 U1 €9,
@13 0u 8. (D) 1,2 241 3 6481 % 1oy 8,
AL sl s

1. 17 [3A%12, 20131 dlsWa 21 dlsiysd olla AAEH] HoyR 24 g,
2. it nuldd 1oy, 2014+ A% HoEl 204 dl.
3.16 YR, 20141 A SWIEL AHAH 2 Sl

(A) 1244 2 9129 89, (B) 2 211 3 U2y 89,
(C) 127 3 ulou 8. @1, 221130008,
AL sl s

1. IR 24200l 2uAio1-l Gedr MIRArL 6iHIREL] $AM 32441 SAUHE 20dA 69,

2. AU i AL [QEnH AL 247 Y24, RwlEst) Geellail vagiz wel dai sl x4 el
sl aeiglzl 21 42l 2uall 9,

@ 1 20u 8. (B) Hot 2 412U B,
(C) 1 24+ 2 6 U1y 89, (D) 1 244 2 i U1y Al
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061. ~flA AusAlL ASIAL :
1. dlsAal 21t AU [RHEs 241 Slal Yed-l Ao cud-u Aldansl san 3164l s34 8.
2. sitREHl sau 320 60 disAal 2uARLL st [@ard 2004 9.
@1 217 2 o o B, (B) {1 1 010y 8.
(C) H1aL 2 912y 9, (D) 1 244 2 61~ U1y, AL,

062. 1AL ALsulL ASIAL
1. A%l s1R160L A ApwAH] Al wu 69,
2. At Asawadl [Rugs uoitdld A yeadHlell 52 ©.
3. ML dld Asawad Sigtl Hed 6 ad a4,
@o 1 uou 8. (B) WoL 2 w4 3 41U 8,
(C) 121 29120 89, (D) 1211 3 A12U 89,

063. 1A usul ASIAL
1. ¢IRcr oianRil saH-50 2 AU-AAABNHL R 511U HAD S A% UAAL M4
2. MIRAL iRl san 13141 BRdH ~unaa-l Yo ssud-l sl aal sami >uddl €.
(A) WA 1 U9 89, (B) I3 2 U1 €9,
@1 211 2 i o B, (D) 1249 2 61 U)oy ).

064. A ALsAL ASIAL
1. iRl o yartt “oun’” vl mdud ALl 52 9.
2. MIRAL iHRELH] sAM “24369” Wi ueAUE HI2H ARSI suotdl saldd 69,
3. iRl sau 243 -l s “Yaauud-l 42ell”’ 2isi-l 2l 53 €.

(A) 1, 2 241 3 0eflog ouoidl dio ). @1, 2 11 30 cielloy ouetdl dlou B,
(C) |iaL 1 244 2 U1y 89, (D) |13 2 244 3 U1y 69,
ﬁ AVARYE \ i
065. X 4 yeu 324 eal.
)N\ o
(A) 10 & (€) 12 (D) 13
066. vuell aouL YRl
3,5,8,13,22 ...
(A) 55 (B) 44 @: (D) 28
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067.

068.

069.

070.

071.

072.

073.

074.

07s.

25 dwidl 15 3 [Bal 214 20 31 [Ball wseum 2islld 52 © Bl 2is-lld wsd Y 16.50 31
(34l €18). 24 AAUHE b1 s sUL AYRUTRHL 2is2ld s2a1 ASA ?

(A)3:7 @ :3 (©)5:7 D)7:5

A WSyl ugedl 28 214 5 sasui ¢ 9. A wdy, B udurll 334 sl siuell »3udl 214 wsy B,
C sl xRl wsll @2 9. 21 Aoiul Wit “A” wdudl sean auaui well a9l ?

(A) 20 scUs (B) 25 s41$

(C) 30 5615 @35 saus

X and Y WA §& 3L 1210 €9 X 0l 2511 4/15 21 Y il 2541 2/5 GIRAGIR A 69, U AU B WA 52¢
3Leal?

(A) 460 @)4s4

(C) 512 (D) 664

6] AuULAL IRISIR 120 AU € dALAL AL HRAAULL 289 AU €9 dll A 6 AvAL-L AU 52l A8l ?

(A) 20 @®):;

©) 26 (D) 32

oy Al sl dons s ugious 3 : 2 - nmamd 9. 12 BHl/saisl 330 a1ddi Wi 21 sl
ouB-§l (WRMMA) 8 Hldlewi 53l a3 &, 0 AL ol &g 524 8l ?

(A) 13560 . ¥l2? @ 153600 0l 022

(C) 30720 L. Hl2R (D) 307200 &i. {22

15, 25, 40 11 75 9l yeldar ol st dd) 4 25314 Alell Wil 4vu1 55 € ?

(A) 9000 (B) 9400
@9600 (D) 9800
SCD, TEF, UGH, .......... , WKL. vudl oroul yzi.

(A) CMN (B) UJI
@vu (D) UT
ELFA, GLHA, ILJA, .......... , MLNA. vuefl osou1 yal.

(A) OLPA (B) KLMA
(C) LLMA @xLia

Rardl sradl G YAl GH s2c1 24 avl atuR €. 6l aul big [l GHR Yoll-l BuR 5241 eiell 2.
Sl Yol GuR sedl wal ?

(A) 18 (B) 20
@22 ! (D) 24
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076.

077.

078.

079.

080.

081.

5 MG Uldll U e sAsHE Yol 53 8. uan 212y idr 21 [5.Hl/sausdl ssudl 214 uedld 2134

2idz 24 (3.3l /scus0l B3uell 510 6. 21 AAUHI & R 52¢ ¢ol ?
(A) 220 (3301, @224 A0
(C) 230 (3.4 (D) 240 (3.4

75 [3.4L/scns-l 2330 ol 2 3.5 (5,41, aivy 222 waR 53 8. 2l deus 1/4 (5.4 8. 21 Aoouni

Uil 21 S2EL AHUHE 22U YAIR 5391 ?

(A) 2.5 4lR2 @)3.0 A2
(C) 3.5 HllAe2 (D) 4.0 A2
A A 25U 20% HRIGHR B AU D, dl B 1L 20% 3 A -l S2e A, ?
&4+ (B) 5%

(C) 6% (D) 8%

A=A asul sl

1. 2R, 25 Rt 331, 2 cudla Guvisi yo- 6.
2. 5100200 A wsHi d-ll Aledl auiR v 9.
3. 20 R0l ICUN L wigl 3o, (1R Lld Aeanui ysida el 6.

(A) HIAL 1 247 2 4oy 69, @ut 12173000 8.

(C) WAL 2 211 3 U1 89, (D) 1, 2 i 3 6181 Q1Y 89,

6125+ (Al (Snow Leopard) t11aal $31 Ul sl 2l 284, ¢9 ?
1. U252 Al Aus (Protect Snow Leopard)

2. [Ruua s (Himachal Sanrakshak)

3. [Rman 2\1,2[51(1 Awl (Secure Himalaya)

(A) WA 1 (B) H1AA 2 244 3

(C) A 1241 3 @123

1. §luiR 6l (Deepor Beel) 24 u1Hul >udg Aldl HIg dion wellg doua €.

2. §luiR ol 2 AHUR W2 6 21 uallil e 2o us - 9.

BURSA cAsAL ASIAL
(A) H1AL 1 AU €9, (B) 1AL 2 U1 89,
(C) 1247 2 61 Aoy e, @1 217 2 o lou B,
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082. ““~uAld, Syl [Ra” (NASA Ingenuity Mission) 54l tUttd A1 As0uAA €9 ?

083.

084.

08s.

086.

087.

088.

089.

(A) U4 L YU AU,

(C) uygHi Garaimi Al

@)1 Guz ddlsinerq Gawat

(D) WA BuR ysclur war ginell eluq

Y AUARRAAA A2AIS2 (Earth Observation Satellite) $uL 514 {12 Gualami A 89 ?

1. 3l Yeuis

2. well 2 vl Hdloy 524
3. sauHir-l sl

4. %l 21 el udlae sd

(A)1,2¥1 3 (B) 1, 2 ¥ 4

el dil-l HETH UINRL deal uniefl Had €9 ?
(A) ¢Rd geu — Chlorophyll
(C) us12 — Light

el wellmi gofl ol Aoll s1e S d-l wa ...

@)z 6432 — Swim bladder
(C) %A A% — Air sacs

casloL 31 “Laughing Gas” 9 © ?
@) a2 visuss
(C) u&sR s1isAS3

(C) 2,321 4 @1, 2,32114

(B) dlcllaRBL — Atmosphere
@) s+ — Soil

6. vuell arout yRl.
(B) 615 6832 — Back bladder

(D) 2R §+1 il i1l — Air in spongy bones

-

(B) 5160, HiALsRUS S

S\

(D) Sl Ulsu 3

SASIS vreoi-i [Feun-2 suL igau siani 20d 6 ?

(A) As1d2

(C) dlvis

sa153ml dlel suld L s1eL a8 ?
(A) A dlan
(C) WRL

@:orz2n

(D) Rn

@un

(D) wi2[Qiun

RURAML 5UL A%UA $iM 8ol IR a1e Wil stdadl a3 sa 6 ?

@i

(C) <l

(B) >3

(D) Hauau
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090. “¥rll8R saAlsiA’’ (Manohar Devadoss) $4L &2 U As00AA sl ?
@avin (B) Rl (C) 2ua-t (D) RUAHA

091. “vlogtt 8518 Rl 58 ™Manidl Mgl dag At 52469 ?
A) B3z (B) U152 olied
@:z0ia (D) 2R

092. 51601 100 Q2] A alzaul uRcaziiui cuda-l 32el HR -l nHde i & ?
(A) AL (B) AR @i (D) %9

093. 6 3AR AR A suL el “WAAl [Ban” adls wiaaug 58l s2a 6 ?

(A) el (B) S

(C) G4cirt @) iioccuza
094. 121 [€] a¢s Sivs3-u su1 2AHL 2UADA scUHi 2] ?

(A) Sl-ls @c»

(C) 51-4 (D) Sedl

095. vidl (Kheti) 5 %1 21232 WP (Earthshot Prize) HOA €9 d sl 2AML 20dg ¢ ?
(A) 202 [ (B) ol @24 (D) x4+l

096. ¥4l UlsU (Monkeypox) 1, -uH $8 A oiedlil MPOX 154l s34 6 ?
(A) UNESCO (B) UNICEF
@wuo (D) WTO

097. 74 2clioie 25-llcio ul2 su1 20 1A ¢d) ?

@\ ) (B) A~us (C) 4o1$ (D) AiHlH21R
098. s 29l " B[ RS Hllss1R2DL w-1ee Bdiaoiel, 2022""+{ 1% 87 e ?

(A) tiidcugal @20

(C) lamuy (D) e

099. gl 11 ldo s[Ma g2l Rehab Wigs2 suL a8l 23 sAUML 2udal € ?
(A) Y8l @ wa (C) A~us (D) HAHELUE

100. A1 U4 54 A2 CDP scuH2 s [A2Hi uam su1is Gu 9 ?

(A) yd [ RE)
(O) ¥Rd (D) 2l
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101.

102.

103.

104.

105.

106.

107.

Percentage of water absorption in a good quality of building stone should be
&o-5% (B) 10 — 15%
(C)15-20% (D) 20 - 25%

How old is a particular tree can be found out by knowing the status of
(A) Cambium layer
(B) Medullary rings

.Annual rings

(D) Bark of tree

In a good brick earth used for making good quality bricks, percentage of silica lies
(A) 10 -20% (B) 20 - 30%
(C) 30 — 40% @50 - 60%

To impart plasticity is a main function of which ingredient?

(A) Silica @A1umina
(C) Iron (D) MgO

To construct brick masonry of one cubic meter, number of bricks required are

(A) 300 500
(B)
(C) 800 (D) 1000

Which of the following is incorrectly matched ?

(A) Grade 43 cement — Used in plastering and flooring

.Grade 33 cement — Used in RCC work of multi-storey building
(C) Grade 53 cement — compressive strength is 53 N/mm3 (28 days)

(D) Portland puzzolana cement (PPC) — used in mass concrete and marine structure

Main ingredients of Portland cement are
(A) Lime and Alumina

.Lime and Silica

(C) Silica and MgO

(D) Silica and Alumina
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108.

109.

110.

111.

112.

113.

114.

Which of the following pairs of cement test and equipment used in that test is not correctly
matched ?

(A) Soundness test — Le Chatelier's apparatus
.Fineness test — Le Chatelier's apparatus
(C) Consistency test — Vicat’s Apparatus

(D) Setting time test — Vicat’s Apparatus

The concrete mix with slump value between 25 and 75 is considered workable.
(A) Very low .Low
(C) Medium (D) High

As per IS 456:200, the minimum cement content for Reinforced concrete member with
normal weight aggregates of 20 mm nominal maximum size for severe exposure condition
is

@320 kg/m? (B) 250 kg/m?

(C) 200 kg/m3 (D) 350 kg/m3

is the ability of a material to resist deterioration over long period of time.
(A) Toughness (B) Hardness
@ urability (D) Ductility

Poisson’s ratio for structural steel is

@3 (B) 0.2 (C) 0.15 (D) 0.35

Upon loading a ductile bar beyond proportional limit, increases more rapidly
than the force.

(A) Strength (B) Stress

(C) Resistance .Elongation

Soundness of cement means

(A) Passing of sound waves through concrete
.Minimum volume change after setting
(C) Heat insulation

(D) Early strength gain
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115.

116.

117.

118.

119.

120.

121.

122.

The air permeability test is used for finding out
.Fineness of cement (B) Permeability of cement
(C) Consistency of cement (D) Strength of cement

In case of a beam subjected to distributed load, the rate of change of bending moment
is

(A) Slope (B) Deflection

.Shear force (D) Intensity of loading

The maximum strain energy stored by a member without being permanently strained
is

(A) Resilience .Proof resilience

(C) Resistance (D) None of the above

Which one of the following is a kinematically determinate structure?
(A) Simply supported beam (B) Cantilever beam
.Fixed beam (D) Propped cantilever beam

For no tension condition, the maximum eccentricity in rectangular foundation of width

‘b’ should not exceed
(A)b/2 @6
(C)b/3 MD)b/4

The Poisson’s ratio of a material which has Young’s modulus of 120 GPa and Shear
modulus of 50 GPa is

(A) 0.1 &2
©o03 (D) 0.4

The section modulus of a rectangular section is proportional to
(A) area of the section (B) square of the area of the section

.product of the area and depth (D) product of the area and width

Product of modulus of rigidity G and polar moment of inertia J is called
(A) Axial rigidity (B) Flexural rigidity
.Torsional rigidity (D) Shear stiffness
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123.

124.

125.

126.

127.

Polar moment of inertia of circular section having diameter of 2m is
(A)1.2 (B) 1.6
©)13 @157

The shear force diagram of a beam is shown in the given figure. The absolute maximum

bending moment in the beam is

7P 7P

ACTERELTERRRNRRRNN

f’l’ll//lr, 2 p
L + ]

#]
Ll L L Ll ;IIJIIIIIIJ’

[777777777777777777777777
V
[

-_— A
VIIIIIIIIIIIITIIIIIIFIIFIFS 2 p

5P
Moo T e 23 —2
(A)2P x a @sr - a
(C)4P x a (D) 7P x a

A mild steel beam develops a bending stress of 80 MPa at a distance of 8 cm from the

neutral layer. If E =200 GPa, the radius of curvature is
(A) 400 m @200 m
(C)100 m (D) None of the above

For any beam if NR = No. of Reactions, NM = No. of Members, NJ = No. of joints, then

relation between SI and KI is

(A) SI + KI =NR + NM @s1 + x1=3\m

(C)SI=KI+NR (D) SI - KI =NR + 3NM

Two people weighing W each are sitting on a plank of length L on the water at L./4 from
either end. Neglecting weight of plank, bending moment at the centre of plank is

(A) WL/8 (B) WL/16

(C) WL/32 @zero
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128.

129.

130.

131.

A simply supported beam is subjected to uniformly distributed load on whole span.

If both supports are made fixed, the reduction in deflection at centre will be

@5 (B) 1/4

O 173 D) 172

A propped cantilever beam having uniform cross-section throughout a span of 4 m carried
a uniformly distributed load of 20 kN/m. Reaction at prop will be

(A) 80 kN (B) 20 kN

@30 N (D) 40 kN

A pin-jointed tower truss is loaded as shown in the given figure. The force induced in the

member DF is

3m
2 kN _.C D *
3m
£ F l.
2
—— am —y
.1.5 kN Tension (B) 4.5 kN Tension
(C) 1.5 kN Compression (D) 4.5 kN Compression

In moment distribution method, the unbalanced moment at a joint is distributed to

members in

.proportion to the stiffness of members meeting at joint
(B) proportion to stiffness of all the members of structure
(C) proportion to the fixed end moments

(D) proportion to ratio of spans
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132.

133.

134.

135.

136.

137.

138.

A two-hinged arch is
(A) Statically determinate structure (B) Kinematically determinate structure

.Statically indeterminate structure (D) None of the above

The internal forces in grids are

(A) The bending moment only

(B) The bending moment and shear force

(C) The shear force, bending moment and axial force

.The shear force, bending moment and torsion

A prismatic beam fixed at both ends carries a uniformly distributed load. The ratio of
bending moment at mid span to bending moment at support is

0.5 (B) 1.0
A)

©) 15 (D) 2.0

The moment at the intermediate support of a two-span continuous beam of 6 m each with
simple support at the ends carrying a uniformly distributed load of 20 kN/m over only left
span is (EI is same for both spans)

(A) 90 kN-m Hogging (B) 45 kN-m Sagging

.45 kN-m Hogging (D) Zero

A simply supported beam of span L carries two-point loads P at a distance 1/3 from either
support. The value of maximum bending moment anywhere in the section will be

(A) PL/2 (B) PL/4

(C) PL/6 ®rLs

A beam of span ‘L’ is fixed at both ends and carries a point load ‘W’ at its mid point.
At what distance from each support will be the point of contraflexure?

(A) 3L/8 (B) SL/8

@4 (D) L/3

For a fixed beam with span L and flexural rigidity EI, amount of force required to produce
unit vertical displacement at any support is

@ 12E113 (B) 6EI/L3

(C) 4EI/LL (D) Zero
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139.

140.

141.

142.

143.

144.

145.

If three hinge parabolic arch carries uniformly distributed load on entire span, every

section of the arch will resist

.only pure compressive force

(B) compressive force & radial shear

(C) compressive force & bending moment

(D) compressive force, radial shear & bending moment

If a structure is statically indeterminate to second degree, then maximum number of

plastic hinges required to render the structure a mechanism is

A1 (B)2

(©)3 (D) Infinite

The diameter of hole for 16 mm diameter bolt with standard clearance is
(A) 16.5 mm @18 mm

(C) 17 mm (D) 17.5 mm

The steel cross-sections, which can develop plastic moment of resistance, but have

inadequate plastic hinge rotation capacity for formation of plastic mechanism is called
(A) Plastic section (B) Semi compact section

.Compact section (D) Slender section

The channel, angle and T sections belong to buckling class

(A) A B) C

OB (D) D

The function of is to improve the buckling strength of a slender web due to shear.
.Intermediate transverse web stiffener (B) Load carrying stiffener

(C) Bearing stiffener (D) Torsion stiffener

Where a fillet weld is applied to the square edge of a part, the size of weld should be

at least less than the edge thickness.
@15 mm (B) 2.0 mm
(C) 2.5 mm (D) 3.0 mm

[BEO] [Contd.


CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight


146.

147.

148.

149.

150.

151.

152.

For limit state of serviceability, the partial safety factor for Dead load (DL) & Live load
(LL) for DL + LL + CL (Crane load) combination is

(A) 1.2 @10

O 15 D) 0.8

In case of single laced system, the direction of lacing on opposite faces of the column
shall be

(A) Random (B) Perpendicular

(C) Opposite .Same

The spacing between adjacent parallel line of fasteners, in transverse to the direction of

load is
(A) Spacing .Gauge
(C) Edge distance (D) Pitch

Cross-section in which the elements buckle locally before reaching yield moment

is called
(A) Short section (B) Flexural section
.Slender section (D) Axially loaded section

In the case of plate girder (with fy =250 MPa), the width to thickness ratio to prevent local

buckling for plastic section shall be

@9 4 (B) 8.4

©) 104 (D) 13.6

Web crippling generally occurs at the point where

(A) bending moment is maximum .concentrated loads act

(C) shearing force is minimum (D) all of the above

Angle of inclination of lacing bar as per 1S:800-2007 is between degree.
(A) 20-30 (B) 30-40

@+0-70 (D) 70-90
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153.

154.

155.

156.

157.

158.

159.

Two plates of 16 mm and 14 mm are joined by lap joint with a fillet weld. The maximum
size of fillet weld may be

(A) 16.0 mm (B) 14.0 mm
@125 mm (D) 14.5 mm

An ISMB 400 is used as a beam in a framed structure. If it can be taken as a laterally
restrained then its

(A) Tension flange is laterally restrained .Compression flange is laterally restrained

(C) Web is adequately stiffened (D) Both (A) & (B) are met

Which of the following elements are essentially required to provide in a roof and sides of
an industrial structure to resist wind force?

(A) purlin .bracing
(C) truss (D) sag rod

A compression member may be considered as short when both the slenderness ratios are

less than .
(A) 10 @12
)8 (D) 16

When high strength deformed bars are used, the reinforcement in either direction in slabs

shall not be less than % of total cross-sectional area.
(A) 0.15 (B) 0.10
@o.12 (D) 0.2

The minimum thickness of flat slab shall be

(A) 100 mm (B) 175 mm
@125 nm (D) 150 mm

The bending moment used in design of isolated footing supporting RC column shall be
computed at

(A) Center of column
(B) Edge of footing
(C) At a distance of effective depth ‘d’ away from face of column

.Face of column
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160.

161.

162.

163.

164.

165.

166.

In limit state method, the design strength is calculated as characteristics strength

(A) Multiplied by partial safety factor .Divided by partial safety factor

(C) Divided by factor of safety (D) Multiplied by factor of safety

The maximum spacing of shear reinforcement shall not be more than for vertical
stirrups.

(A) Effective depth (B) Width of member

.0.75 times effective depth (D) 0.5 times effective depth

The actual concrete cover at site should not deviate from the required nominal

cover by

@) 10 nm (B) = 10 mm

(C)+10 mm — 5 mm (D) - 10 mm

Accelerator reduces time and accelerate rate of hydration.

(A) Curing (B) Hardening

(C) Strengthening .Setting

The formwork from sides of beams can be removed after days.
A4 B)7

(€) 14 @

Lateral ties in reinforced concrete column are provided to resist
(A) Bending moment

(B) Shear force

.Buckling of longitudinal steel reinforcements

(D) Both bending moment and shear force

As per 1S:456-2000, the short term modulus of elasticity of M25 grade of concrete can be

assumed to be
@)25000 MPa (B) 28500 MPa
(C) 30000 MPa (D) 36000 MPa
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167.

168.

169.

170.

171.

172.

For maximum negative moment atinternal supportof a multi-span beam, the arrangements

of Dead load(DL) and Live load(LL) shall be
(A) DL and LL on all span
(B) DL on all span & LL on alternate span

.DL on all span and LL on adjacent span meeting the support at which negative moment

to be determined.

(D) Only DL or LL on all span

Minimum percentage of steel provided in the column as per IS:456 is of its gross

sectional area.
(A) 0.5% @o.s%
(0) 1.0% D) 1.2%

Which one of the following loss do not occur in pretensioned beam?
(A) Elastic shortening .Anchorage slip
(C) Relaxation (D) Shrinkage & Creep

Which one of the following parameters is not taken into account in Response reduction

factor, which is used in the determination of seismic force?

(A) Overstrength (B) Redundancy

(C) Ductility @)stiftness

When activity can be started before completion of predecessor activity, such activity is
called

(A) Sequential activity (B) Parallel activity

.Overlapping activity (D) None of the above

What is the expected activity duration for an activity whose optimistic time period is

3 days, most likely time period is S days and pessimistic time period is 13 days?

(A) 5 days .6 days
(C) 7 days (D) 10 days
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173. Which statement is incorrect?
(A) Tail event marks the beginning of an activity
.Dummy activity requires highest time and maximum recourses
(C) Event that follows another event is called successor event

(D) Event that occurs before another event is called predecessor event

174. Which is correct in case of slack?
i. Slack is negative if latest allowable time is more than earliest expected time

ii. Slack is positive if latest allowable time is less than earliest expected time

iii. Slack is zero if latest allowable time is equal to earliest expected time -
(A) Only (i) and (ii) are correct (B) Only (i) and (iii) are correct
.Only (iii) is correct (D) All three are correct

175. The equipment used for precise excavation as far as depth of excavation is concerned for
utility trenches is

(A) Drag line .Hoe
(C) Grader (D) Shovel

176. Consider the following activities in building construction:
1. Concreting of roof slab
2. Placing of steel cage
3. Erection of form work for slab
4. Construction of parapet wall
Which one is the correct sequence of constructional activities?
(A)2,1,3 and 4 (B)3,1,4 and 2
(0)1,4,3 and 2 .3, 2,1and4

177. Which type of fund is the Sinking Fund?
.Fund to rebuild structure when its economic life is over
(B) Fund to be raised to meet maintenance cost
(C) Fund for paying to Municipal authorities as building tax

(D) Fund for doing modifications in structure
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178. Earth work for excavation of foundation of a single room of 4.8 m x 3.6 m for depth of

foundation of 1 m and wall thickness of 30 cm is
(A) 21.5 cum (B) 19.6 cum
@162 cum (D) 14.8 cum

179. In the analysis of rates used in the estimation and costing of the building, percentage

provision for water charges is generally around
@15 % (B) 3.5 %
(C) 85 % (D) Never included

180. What is correct in case of Schedule of rates ?
i. It consists rates of different items of works
ii. PWD of state and Central governments maintain printed book of it
iii. Schedule of rates (SOR) are fixed and never revised

iv. Working rates when differ much from schedule of rates (SOR), then rates are revised,

generally after three years
(A) Only (i) and (iii) are correct (B) Only (i), (ii) and (iii) are correct
.Only (i), (ii) and (iv) are correct (D) All are correct

181. What is incorrect in case of earnest money used in contract?
.It is about 20 % — 25 % of estimated cost of the work
(B) It is forfeited when the contractor run away even his tender is accepted
(C) It is to be deposited by the contractor while submitting tender

(D) It is refunded to the contractor whose tender is not accepted

182. Which statement is not correct related to Measurement Book (MB)?
(A) MB is always numbered serially and issued to particular person
(B) Continuous entries are recorded in the book without leaving any blank page
(C) Payment of works and supply is made on the basis of measurements recorded in MB

.Standard measurement book (SMB) is never used for annual repair and

maintenance work
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183.

184.

18S.

186.

187.

188.

189.

190.

A brick portion obtained by cutting a brick lengthwise into two pieces is called
(A) King closer .Queen closer

(C) Bat closer (D) Corner closer

In a masonry work, single Flemish bond should have at least thickness of
(A) Half brick (B) One brick
.One-and-half bricks (D) Two bricks

A joint in which projection is provided in one stone and depression in other stone to

prevent sliding is termed as
.J oggle joint (B) Butt joint
(C) Lap joint (D) Dowel joint

Vertical member of a frame which subdivide a window or door vertically is known as
(A) Transom (B) Jamb
@ Mutiion (D) Reveal

What number of treads will be there in a single flight of stair provided for floor height of

3.0 m with 15 cm height of each riser?

@1 (B) 20

21 D) 15

With respect to dry weight, first class bricks should not have water absorption more than
&0 (B) 30%
(C) 40% (D) 50%

Properly designed stair should have maximum pitch value of

(A) 20° @)40°
(C) 60° (D) 70°

Type of flooring suitable for theatres and library, where noiseless covering is required is
(A) Glass flooring (B) Linoleum flooring
.Cork flooring (D) Tiles flooring
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191.

192.

193.

194.

195.

Expansion joints in masonry walls are generally provided at length interval of more than
(A) 10 m (B) 20 m

(C)30m @+ m

Which one of following is not a dewatering method used for digging foundation in
waterlogged area?

(A) Well point system

(B) Cement grouting

(C) Freezing process

.Electrical resistivity method

What is correct as per requirement for Low cost housing generally used in village?
i. Low energy consumption

ii. Use of local material with improved technology

iii. Use of costly and high strength material for long life

(A) Only (iii) is correct

(B) Only (i) and (iii) are correct

.Only (i) and (ii) are correct

(D) Only (ii) and (iii) are correct

Which of the following is correct in case of roominess?

i. It means getting maximum benefits from minimum dimensions of the room

ii. As per this length to width ratio of 1.2 to 1.5 is desired

iii. very long length compared to width may create tunnel effect

(A) Only (iii) is correct (B) Only (ii) and (iii) are correct

(C) Only (i) and (iii) are correct .All (i), (ii) and (iii) are correct

A vertical window provided in sloping roof of building to admit light and air and also to
impart architectural view is called

.Dormer window (B) Bay window

(C) Gable window (D) Lantern light window
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196. At what temperature water is treated as standard fluid in case of specific gravity?
(A) 0°C @)+
(C)-4°C (D) 100°C
197. If the cylinder contains 0.3 m3 of air at pressure of 100 kPa, what will be the pressure in
that cylinder if this air is compressed to 0.06 m3?
(A) 50 kPa (B) 100 kPa
@500 kpa (D) 1000 kPa

198. Stokes, which is a unit of kinematic viscosity is also equivalent to

.cmz/s (B) m2/s
(C) mm?/s (D) dm?/s

199. Regarding specific gravity which statement is correct?
i. Ratio of specific weight of fluid to specific weight of standard fluid
ii. Ratio of mass density of fluid to mass density of standard fluid
iii. it is dimensionless and have no unit
(A) Only (i) and (ii) are correct .(i), (ii) and (iii) are correct

(C) Only (i) and (iii) are correct (D) Only (i) is correct

200. Ratio of Bulk modulus of water to Bulk modulus of air is about
(A) 1000 (B) 2000
(C) 10000 @):20000

201. Which of the following is used to measure discharge?
.Venturimeter (B) Current meter

(C) Anemometer (D) All of the above

202. Maximum thickness of boundary layer in a pipe of diameter D is
(A) D/10 (B) D/4
@po, (D) D
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203.

204.

205.

206.

207.

When constant rate flow takes place through a tapering pipe then flow is
(A) Unsteady and uniform

(B) Unsteady and non-uniform

(C) Steady and uniform

.Steady and non-uniform

Which statement is correct in the context of flow net?

i. Used to study irrotational flow

ii. Obtained by plotting a series of stream lines and equipotential lines
iii. Fluid flow is confined within two-dimensional boundaries

(A) Only (ii) is correct

(B) Only (ii) and (iii) are correct

(C) Only (i) and (iii) are correct

.All (i), (ii) and (iii) are correct

Head loss in a circular pipe of water supply for a fixed distance is proportional
(A) Directly to pipe diameter

(B) Directly to square of pipe length

.Directly to square of flow velocity

(D) Inversely square of flow velocity

Which of the following accessories will cause maximum head loss in pipe flow?
(A) 45° elbow (B) 60° bend
(C) U bend @)90° T-bend

Which statement is correct when pipes are arranged in parallel system in pipe flow?

(A) Same flow in all pipes
.Same head loss across each pipe
(C) Increased flow in parallel pipes

(D) None of the above
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208.

209.

210.

211.

212.

213.

Installation of draft tube in a reaction turbine helps to
(A) Increase flow rate

(B) Transport water to downstream

(C) Convert potential energy to kinetic energy

.Convert kinetic energy to pressure head

Kaplan turbine is suitable for

(A) Low head and low discharge
.Low head and high discharge
(C) High head and low discharge
(D) High head and high discharge

Single stage centrifugal pump delivers 1 m3/s of water against net head of 16 m. What is
specific speed of pump if it runs at 800 rpm?

(A) 50 @100

(©) 125 (D) 200

If two identical pumps each of capability of delivering discharge Q against head H are
connected in series, then resulting discharge is

(A) 2Q against head of H (B) 2Q against head of 2H

(C) Q against head of H .Q against head of 2H

Which is incorrect in case of the methods used for measurement of average rainfall?
(A) Isohyetal method is used for hilly area

.Theissen polygon method is used for hilly area

(C) Theissen polygon method is used for plain area

(D) Theissen polygon method is used when gauging stations are less

Which is incorrect in case of unit hydrograph theory?

(A) Unit hydrograph represents 1 cm of runoff

(B) Effective rainfall in unit hydrograph is uniformly distributed over entire area
(C) Unit hydrograph theory is not applicable to large area

.Unit hydrograph theory is applicable to appreciable precipitation of snow also
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214.

215.

216.

217.

218.

219.

Area under the hyetograph represents
.Total rainfall occurred in that period
(B) Total runoff occurred during that period
(C) Total infiltration occurred in that period

(D) Total evapotranspiration occurred in that period

What is coefficient of permeability in cm/day for a 1000 cm thick aquifer, which shows

transmissibility of 20 m?/day?

(A) 50 @200
(C) 500 (D) 20000

Which statement is correct regarding flood control ?

i. Construction of Levees

ii. Provision of flood wall

iii. Prevention of diversion channels

iv. Construction of storage reservoirs

(A) Only (i) and (iii) are correct .Only (i), (ii) and (iv) are correct
(C) Only (ii), (iii) and (iv) are correct (D) Only (ii) and (iii) are correct

Which of the following water is not available for plant for use?
(A) Capillary water .Hygroscopic water

(C) Soil moisture water (D) None of the above

What is delta of a crop which has base period of 100 days with duty of 2160 hectare/

cumec?
(A) 200 mm @)+00 mm
(C) 600 mm (D) 800 mm

A cross drainage work in which canal flows over the drain/river and HFL of drain/river is

higher than canal bed is known as
(A) Aqueduct .Syphon aqueduct

(C) Super passage (D) Canal syphon
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220.

221.

222,

223.

224.

225.

226.

What is width of canal, which has side slope of 0.5 H : 1 V and cross-section area of

42 square meter with depth of canal as 2 m?

@20 m (B) 21 m
(C)22m (D) 40 m

What percentage of total water demand is considered for industrial purposes?

(A) 5-10 % @&)20-25 %

(C) 40-45 % (D) 60-65 %

What is design flow for per capita demand of 200 litres/day of a city having population of
240000? Consider Peak factor for variations of demand is 1.5.

.3000 m3/hr (B) 4500 m3/hr

(C) 5000 m3/hr (D) 8000 m3/hr

Dental disease named as mottling of teeth is caused when concentration of fluoride exceeds

(A)0.1 (B) 0.5
(©) 1.0 @):.0

Hydraulic mean depth of sewer having diameter of 0.80 m is
@200 mm (B) 400 mm
(C) 800 mm (D) 1000 mm

Detention time for high rate digestion process is

(A) 5 days .15 days
(C) 30 days (D) 60 days

Which is true regarding the following statements?

i. Backwashing is done in RSF

ii. Sludge recirculation is done in activated sludge process

iii. Facultative zone exists in oxidation pond

iv. Trickling filter is an anaerobic process

(A) Only (i) and (ii) are incorrect (B) Only (ii) and (iii) are incorrect
(C) Only (iii) is incorrect .Only (iv) is incorrect
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227. Principal gases produced in anaerobic decomposition of organic solid waste compounds in

landfills are
@) co, and cH, (B) NO, and NH,
(C) SO, and SO, (D) NH; and N,

228. Pathogenic bacteria are usually determined by
@ VrN test (B) Turbidity test

(C) Jar test (D) Conductivity test

229. Particles released in atmosphere due to incomplete combustion of carbon are called

(A) Particulate (B) Aerosols
@soot (D) PAN

230. Settling velocity in primary settling tank does not depend on
(A) Length of tank (B) Width of tank

.Depth of tank (D) Size of particles to be settled

231. Minimum DO for survival of Aquatic life and Fishes in water bodies is around

(A) 1 mg/L @)+ mgL
(C) 8 mg/L (D) 10 mg/L

232. Noise level generated by rail traffic is around
(A) 30-40 dB (B) 50-60 dB
@)so-100 aB (D) >150 dB

233. Liquid which is collected after water percolates through solid waste is called
(A) Sediment (B) Sullage
(C) Coagulant .Leachate

234. Organisms who derive both energy and material from organic compounds are called
.Heterotrophs (B) Phototrophs
(C) Autotrophs (D) None of the above
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235.

236.

237.

238.

239.

240.

241.

Approximate Range of velocity gradient (G) for design of flash mixer in water treatment

plant is
(A) 50-100 (B) 200-300
(C) 300-400 @)s00-800

The effective size, uniformity coefficient and coefficient of curvature are used to

define
(A) Permeability of soil (B) Density of soil
.Grading of soil (D) Relative density of soil

Sensitivity is measure of change in consistency or strength of soil on
(A) Compaction .Remoulding

(C) Consolidation (D) Compression

The unit of permeability is

(A) sec/ m (B) kg / sec

.cm / sec (D) m3/ sec

The constant head test is used to determine of soil.

(A) Hydraulic gradient (B) Compressibility

(C) Thermal conductivity .Hydraulic conductivity
Liquefaction is sudden large decrease of the shearing resistance of soil.
(A) Cohesionless unsaturated (B) Cohesive saturated

(C) Cohesionless .Cohesionless saturated

In Rankine analysis for lateral earth pressure, the soil deposit is assumed in a state
of

(A) Elastic equilibrium
.Plastic equilibrium
(C) Equilibrium of wedge of soil and wall upto assumed failure plane

(D) None of the above
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242.

243.

244.

245.

246.

247.

248.

249.

250.

Liquid and plastic limit exists in soil.

(A) Gravel @ ciay (C) Silty (D) Sandy

Proctor’s test is performed to determine

(A) Maximum water content (B) Specific gravity
.Maximum dry density (D) Dry density
The cohesionless soil loses on attaining quick condition.
(A) Bearing capacity .Shear strength
(C) Plasticity (D) Elasticity

The black cotton soil is not suitable for foundations because

(A) Particles are cohesive

(B) Bearing capacity is low

.Undergo volumetric change due to variation in moisture content

(D) Difficult to drain

Geodetic survey compared to Plane survey is treated differently because of
.Earth’s curvature is considered in it (B) Geodetic survey is used for hilly area

(C) Geodetic survey covers small area (D) Geodetic survey is done by compass

In field survey, the Prismatic compass measures on the field
@ wcs only (B) RB only
(C) Both WCB and RB (D) None of these but only indicates north

What is RB of a line if WCB of that line is 220° ?

(A)N 40° E (B) N 220° W @s 10°ow (D) S 140° W

If a line AB has FB of 40° and line BC has FB of 10°, then what is included angle between
these lines ?

(A) 50° (B) 100° @150 (D) 210°

Contour rings plotted after contour survey, shows higher RL values in outer rings

compared to inner rings represents

@ vaiey (B) Hill (C) Cliff (D) Plane ground
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251.

252.

253.

254.

255.

256.

Staff intercept taken on point A is 0.7 m and on point B is 0.6 m from same setting of

instrument, what is true with respect to instrument location ?
(A) Point B is far compared to point A
.Point A is far compared to point B
(C) Point A and B are at same distance

(D) Distance cannot be calculated

Which statement is correct for Change point in levelling ?

i. FS and BS is taken on same staff station

iil. Required when line of sight passes over the staff

iii. Required when line of sight passes under the staff through ground

iv. Used when it is not possible to read staff clearly

(A) Only (ii) and (iii) are correct (B) Only (i) and (iv) are correct

.All statements are correct (D) No statement is correct

Whatis tangent length of a simple circular curve whose radius is 200 m and deflection angle

is 90° ?
(A) 100 m @200 m
(C) 400 m (D) 800 m

What is length of transition curve for maximum super elevation of 400 mm, provided with
rate of 1 in 400 ?

(A) 100 m @160 m (C)320 m (D) 400 m

What is RL of top of hill if a flag of 3.5 m length is put over the hill and angle taken by
theodolite of top of flag is 45° from a distance of 100 m? BM =50 m and BS=1.5m

(A) 100 m @148 m (C) 152 m (D) 155 m

What is scale of a vertical photograph which was taken from an aircraft flying at 2000 m

altitude over a hill of 200 m elevation fitted with 200 mm focal length camera?

(A) 1 in 6000 (B) 1 in 8000 @1 in 9000 (D) 1 in 10000
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257.

258.

259.

260.

261.

262.

263.

264.

265.

If plumb line is marked above observers station then upper point on the celestial sphere
is called

.Zenith (B) Nadir (C) Horizon (D) Equator

Range of wavelength for visible spectrum of EMR used in remote sensing is
(A) 100 — 200 nm @&)+00-700 nm
(C) 800 — 1200 nm (D) 1500 — 2000 nm

Which of the following is not a metamorphic rock?

@)shaie (B) Gneiss (C) Schist (D) Marble

Which of the following is not true in case of use of GPS?

(A) Vehicle having GPS is traceable

(B) GPS can be used in fleet management

.Traditional surveying equipments needed in GPS which make it costly

(D) Data for prospective project sites are quickly and accurately collected by GPS

Recommended values of camber for cement concrete road in the area of light to heavy

rainfall is
@1.7%-20% (B) 2.5 % — 3.0 %
(C©)3%—4% D)4 % -5 %

Width of carriageway for roads having two lanes with raised kerbs is around

(A)5.5m @75m (C)9.5m (D) 10.5 m

Safe overtaking sight distance as per IRC for speed of 60 kmph is
(A) 100 m (B) 150 m (C) 200 m @300 m

What is equivalent factor of PCU (passenger car unit) for straight rural roads for small

bullock cart ?

(A) 4 ®)o (©)8 (D) 10

Total numbers of potential conflicts for two-lane roads when both roads are one-way can

be estimated as

(A) 4 ®)o ©) 11 (D) 24
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266. Which statement is correct ?
i. Dowel bars are provided at the transverse joint in cement concrete road
ii. Dowel bars maintain slab edges at same level at joints
iii. Tie bars are used across the longitudinal joints of cement concrete road
(A) Only (i) and (ii) are correct
(B) Only (ii) and (iii) are correct
@A (i), i) and (iii) are correct
(D) Only (iii) is correct

267. In which type of pavement Reflection cracking is generally observed?

(A) Flexible pavement

(B) Rigid overlay over flexible pavement
(C) Rigid pavement

.Bituminous overlay over rigid CC road

268. Side drains arc are provided in hill roads in
.Only on the hill side of road (B) Only on the opposite side of hill
(C) On both sides of road (D) Side drains are not provided

269. What are the requirements of the investigation for the location of the bridge site ?
i. Technical feasibility study
ii. Techno-economic study
iii. Detailed survey and report
(A) Only (i) and (ii) (B) Only (ii) and (iii)
(C) Only (i) and (iii) @ An three

270. As per IRC, minimum height of cushion to be provided in the pipe culverts is

(A) 250 mm (B) 450 mm @600 mm (D) 1200 mm

271. Slab bridges are used for maximum span of

(A) 6 m @o nm (©)12m (D) 15m
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272.

273.

274.

275.

276.

2717.

278.

Which class of vehicle live loading shall be considered as per IRC, for design of bridges
in select corridors where passage of trailer vehicles carrying stator units, turbines, heavy

equipments and machinery may occur occasionally?
(A) Class A loading (B) Class AA loading
(C) Class 70R loading .Class SV loading

Which is correct statement in case of lining of tunnels?

i. It supports the loosened rock pieces during blasting

ii. It gives proper section to the tunnel

iii. It strengthens the weak locations in the tunnel

(A) Only (i) and (ii) are correct (B) Only (i) and (iii) are correct
(C) Only (ii) and (iii) are correct .(i), (ii) and (iii) are correct

Which of the following is the method used for tunnel construction in soft soil ground ?
.Compressed air method (B) Full face method
(C) Heading and bench method (D) Pilot tunnel method

Resonators are used in tunnels for the purpose of
.Noise control (B) Drainage control
(C) Dust control (D) Ventilation control

Total storage capacity of Narmada dam reservoir is around
(A) 4400 MCM @) o400 Mcm
(C) 14400 MCM (D) 24000 MCM

Which type of turbine is used in the canal head power house for power generation in

Narmada dam ?
(A) Francis pump turbine .Kaplan-type turbine
(C) Pelton wheel turbine (D) Radial flow turbine

Which is the world’s largest masonry dam ?
(A) Bhakra Nangal Dam .Nagarjuna Sagar Dam
(C) Bratsk Dam (D) Hoover dam
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279.

280.

281.

282.

283.

284.

28s.

286.

Which of the following is incorrect statement in case of “Statue of Unity”?
@1t height is 282 m

(B) It is the world’s tallest statue

(C) Materials used in its construction were cement, steel and bronze

(D) Its cost of construction was around X 3000 crore

Along with famous Sun Temple, Modhera village of Gujarat is also famous for
(A) Station of Bullet train (B) 100 % literacy rate
.Fully solar powered village (D) 100 % vaccinated village for Covid-19

Which of the following statements is not true in case of The Ukai Dam situated in

Gujarat ?

(A) It is meant for irrigation, power generation and flood control
(B) It has second largest reservoir in Gujarat

(C) It is across Tapi river

.It is a Gravity Dam

How much percentage of railway track will be elevated through viaduct or bridges in
India’s first bullet train project of 508 km between Ahmedabad and Mumbai?

(A) Around 42% (B) Around 62%

(C) Around 82% @ Around 92%

The map of India is divided in seismic zones.

(A)3 &) (©)5 (D) 6

Total length of Ahmedabad-Dholera Expressway is
@109 km (B) 154 km (C) 137 km (D) 176 km

Mumbai-Ahmedabad High Speed Rail corridor runs through total distance of
@510 km (B) 600 km (C) 750 km (D) 800 km

Which statement of the following violates the road safety rules and regulations in India ?
(A) Never use mobile while driving (B) Wear seatbelts / helmets for safety

(C) Never drink and drive .Overcrossing of specified speed limits
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287.

288.

289.

290.

291.

292.

293.

Which is not among Don’ts generally used for driving on roads ?
.Don’t horn while on sharp curves or bends

(B) Don’t carry inflammable goods or articles in vehicle

(C) Don’t cross specified speed limits

(D) Don’t overtake an overtaking vehicle

Which is not considered a part of 4 Es in road safety measures ?

(A) Education .Evaluation

(C) Engineering (D) Environment and Emergency
‘NO STOPPING’ is a sign

(A) Warning (B) Regulatory

(C) Mandatory .Informatory

The warning signs should be located on the Expressways for plain and rolling terrain at a
distance of

(A) 150 m (B) 180 m @200 m (D) 220 m

Which material is not considered as innovative building material in current scenario ?
.Fly ash bricks (B) Translucent cement
(C) Hydro ceramic (D) Cigarette butt bricks

Which of the following statements is not correct in case of 3D printing in civil
construction ?

(A) 3D printing has advantage of faster construction work
(B) It can be used to create construction components or to print entire building
(C) Less waste is produced in 3D printing of construction

.3D printing of construction requires more unskilled labour and high cost

Which of the following statements can be considered as a disadvantage of modern method
of construction (MMC) ?

(A) More energy-efficient and economic in nature
(B) Reduced wastage and low health & safety risk
(C) Uses concept of sustainable material and pollution control

.Need of specialized equipments and skilled personnel
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294.

295.

296.

297.

298.

299.

300.

What is the full form of IGBC?
.Indian Green Building Council

(B) Indian Green Building Control

(C) International Green Building Control

(D) International Green Building Council

Which one of the following NDT is most suitable for determining cracks in concrete?
(A) Rebound hammer .Ultrasonic pulse velocity
(C) Impact echo (D) Penetration test

Which band of the electromagnetic spectrum has ability to penetrate in ground ?

(A) Visual (B) Infrared
(C) Reflected infrared .Microwave
Remote sensing techniques make use of the properties of waves emitted, reflected

or diffracted by the sensed objects:
(A) Electric (B) Sound
.Electromagnetic (D) Wind

Consider the following strengths of concrete :

1. Cube strength 2. Cylinder strength
3. Split-tensile strength 4. Modulus of rupture
The correct sequence in decreasing order of these strengths is

(A)3,4,2,1 (B)3,4,1,2 (C)4,3,2,1 @+,3.1,2

A satellite moves in its orbit around the earth due to
(A) Gravitational force (B) Centrifugal force
.Centripetal force (D) None of the above

Ultra-High Performance Concrete (UHPC), also known as
.Reactive powder concrete (B) NPC
(C) Active powder concrete (D) High Strength concrete
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